. The total amount of annual fees collected by
the secretary of a golf club consisting of
480 members was £397 200.

How much did each member have to pay ?

There are 48 tins of tomato soup in a carton.
There are 20 cartons in a box.
There are 15 boxes in a crate and 8 crates on a lorry.

How many tins of soup are on the lorry ?

35 people work a six hour shift at a call centre.

If the total wage bill for them is £1470, what
is their hourly rate of pay ?

A buyer for a phone store bought 60 phones for £2280.
The store managed to sell all but 5 of them for £42 each.
a  How much money did the store take in ?

b How much did the store make out of these sales ?

Gerry bought a new people carrier worth £35620. He arranged to pay the garage
£7000 and then pay what was still owed over a period of 36 months.

After that first payment :- Py rar A
— e = |
a how much did he still owe the garage ?

b what had he to pay per month to clear what he owed ?




